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11. ������������������������	
������
����������������� ��������
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����
���������	���	��
����

�������������
����������
��������������	��
���

14. �������	���������	�
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16. �������	��� ������	�
��������
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
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
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20. �������	���������	�
��������
���
����	�
����������������������������
�������������-
��� ��′ ���������������	������������	��	
������	����	
������
������������������������	�

	���
������������������������	������������������������������������
��������������

������������������������������� �������� = ��
���������������
�

"�������������������������	����������������������������	���������

�����������������	
������������ 
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�����������������������	��	
�������������������

������������������������	����������������������������
��������������

"������������������	���������������	���������

����������������	
�����������������������������������������
����

�
��� .

��������������� �� 
�
 �����	
����������
���������������������������������������������-

����� �� ��� ������������������������������������
�
�

�
�

�

�

�

�






= .

��������
���� ��
���������
���������� �����
����	�
�������� ��������������������� ���

����������������� �� ��� �����������������������������
������������������
�

�

���

���

�

�

�

�
= .

�	������
�������
�������������������������
����	�
���������������������������������-
����������������������������������������	�������
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"�������������������������	����������������������������	���������

���������������������
�������������������������� ������ = ����������������
�

�����������������������
�������������������������� ������ = �����������������
�

������������
������������	��������� �� ����������
������ �� �
�
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25. �������	���������	�
��������
���
����	�
�������������������	�����������	��	���
������

�������������	
����������������������� ��������
�����
�

�
����� = �	����
����� ������ =

���������
�������

i) �����	���	
������

ii) ������������	�������	�	
�	������������������
�������������������������
����	�

������

���������#��������������������	
������

�����������	
����������	���������������!����������� �� ′ �	�����������	��������� �� =
������������������������� ������ >=

"
�����
��#
�������##
�
�

��!
���������� �−⋅ �����
�y = 0,05�����500t – 0,5x) (SI)]

26. "������������������	��������������x = 0 ���������� �� ′ ��������������������t = 0,�����	��-
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���
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	����������	������������������������������������������"
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ii) ��������
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iii)  �������������������
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����������
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�
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�
�������
��� 





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����������
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�

�

�
��"��    iii) 0]
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28. "��������!�������������	��
�������������� t �������
��������	����
�����������������
��	
���������� = ���������������	
��������������	�����������	��	���
���������������

�� ′ �������
����� �
�

�
�� =

���������������������������������������	��������	���	
������

���������#��������������������	
������

���������#������������������������������������
�������
��������	��������������������

�������������������������������������"���������	�������������� ���� =
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��������������������������������������-
�����!����������������������������������������������	�����������������

"
�����
������������ �����������
� �������������������� −=  (SI)

��
� �������������������� −= (SI),   �������������������
� −−= (SI)

��
���������������x (SI)]

29. �������������	
��������������	�����������	��	���
���������������� �� ′ ����������	���-
���������
����	��������	����������	���	
������
�������������������������������������

������������	�������������������������������� ��
�

��
���� �= �������������	��������� �

�
���
�	���������"�����������������	���������������������������������������������

"

��
�� = �	��� �

�

���
�� =

������������������������	
�����������������	���
�������������������������������������"�

���������
���������������������"��

"
�����
�&���'

30. �����������������	
�����������������������������	��	���
���������������� �� ′ 	�������
������������	�������	��� #$
��������������� === ��������#�������������������

	
���������	��������������������	����������������

�����������������������������������
�����	���V > 0.
������������������� m�����������������
�����	���(�)���

"
�����
� �������
���������� += �$%
�����
� 




 ++=

8

7
x25,1t4�2��05,0y (SI)]

31. �����������������	��	
�������������� ����
������������� +−= (SI).
���������
�������

i) �������
���������	
������

ii) ��������������
�������
��������������������������
����	�
�������
��������������������
�����������
�������������������t = 0, ������������������
����	�

��������������	���������������x = 25�*��m.
��������������������
�����������
�������������������t = 0,1��s, ������������������
����-
	�
���������������	���������������x = 50��m.

�"
�����
�i) 
�

�
���    ii) 

�

�

���� = �����
�

�

�

��� −= �����
�

�

�

��� = ]
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32. ���� ����	�	���
�� �
��� ����������� ��	�� ��� ������� ����
������ �	�� ��	��� �� ′ � ���� 
���

����	�� ������� = ����	���
���	����������������������������������	���������	���
��-

�	����������������������
��	����	��	�	��� ������������
��� ����������	��������������

y = 0,1 m.
������������

i)  �	������������������
�

��
� = .

ii)  ��������	�	����������������������������	���
���	�	
iii)��������
���������	�����	���
���	�	

��������	���	������������������
�����	���
���	������������������������������	���
-
���	�	


��	�����������m–1  ii) 	



�
, 

	

��

��   iii) 

	

�
���

����
�

�
,  





 +−=




�
�����
��������    (SI)]

33. �������������������	�	����������������������������������
�	�	���	
���	���������-
�	�����	��	������������	��������	�������	��
������� ��������
� �−⋅= ����������	���-
�������	��
���������������������������������
�����	��	����	���
���	�����������������	

�������������������
���������	�����	���
���	��

���������������������������	���
���	�	

������������������	�����������������
��� ��	��	������	��������	������������ 	����� =
����������	�������	������	�	�	�	���
�����������������
���������� ��
� =


��	�����
	

�

 ������� ���������������
� � −⋅= − ����������� ���
 �−⋅ ]

34. ��������	���������	
�	�	���	
���������	
��
�	���������������	����������������
���-
��� �	�� ��	��� �� ′ � �������	� ����	�	���
�� �
��� ��� ����	�� ���
�� = � ���	�� �
���	�

�����������������
����� �
	

�
�� = ������	�������������������	��
���
��������	������	� �

������	����	��� ���′ �	����	������	� ������������������	��������������������
�������������

�
�����	��	������	�����	
���	�������������������
	��	

��������������������������������	�����������	�������	�� ������������������	�����		

��������������������������������	��������������������	����	���������	
��
�	���	�	-
�	�	�
�������������
����������c��������������������	�����		
���������������������	�
���	���������	
��
�	����������	�������	�� ��������	���
������-

�
��� .
2

T5
,T2,

2

T3
,T,

2

T
,0


��	����� ���������
� += ������� �	��������������
�

�
������
� 





 −= ]
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35. ����	�����������	�
��������
���
����	�
��������������������������t = 0, ����	��
����-
�������������	����
������������������ ��������� = ����������
������
���������������-

�����	������	����������������!���	
���������
����� �
�

�
�� =

��� ���������������	���	
������

��� �����������������
���������������������"������
����	�
��������������������������

����������������������������

���������#�������������������������	�������������������"�	���������
��������������-
���������������	����������1 = 5,625 s.
 ���������������������������������������"�������������������	���������

	�  �������������������������"��������������������������������������	�����������1 = 5,625 s) �-

��������� %
�

��
�&��� += ������������������������������	
���

�����������������������	�����������
������������������������"�������������������

������

"
�����
����������
��������
� ����	����	����������������' −= , 10 cm, 
�

�
�&��
 +=

��
� �
���

�
������������������"'

36. 
����
���������	�����������������	�������������������������	�����������������
����������������������������������� ���������� �+= �������������
������
�

��������	��������������������������	���������������������	�������	�����������������

����������������������������������������������������������������������������������	
��

��������������������������������������������������	���������

���������������������� ���

���������#��������������������	
���������������������	������	������������� �� ′ ������-

����	�
������������������������������������	���������������	�������

���������#������������������������������������
�����������
��������	�����������������

���������������������������������������������
����	�
���������������	�������������

x = 10 cm.
	����������������������	������������������
��������������������������������������-
�����!��������������������������������������������������������������	�����������������

������������������������������������	
��������������	�������������������

�"
�����
�
�

�
�����
� 





 −+=

��

�




�
������� ���������� x��
������


��
� 




 −=




�
�������
� �����������V����

�

��
),   





 −−=




�
�������� � ����������������

��

��
)]
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���rad)

10�

2 x (m)

37. ���� �������� ���������� �
�� �����	��� ��-
����������������	�������������������	
��

��������������������	������	���������	�


�������
���
����	�
��������������������-
	��	���
���������������� ���′

����
�������������������������	������

������	�
� �
����	�
��������"�� ����� ���

�
�������������������������������	�����-
�����������%
�	����%%
�����������

��� ��� ��	��� 	
������ 	��� ���� �������� ���

	
������

����������
������������������	
������

�������������������	
������

	�� ���������	���������� ��� ����� ������-
������ ���� ���
����� ��
��������	��� ���� �-
���������� ����� ������� ���� �
����	�
� ��-
�����������������	�����������������������

��������	�������������������

������������������������������������	
��-
����	������������	�������������������

"
�����
�������������������
�
�

��
���� �����
� 





 −=

��

�
����������� �����������
�	����������


��
���� ��
�

��
��� ]

38. ���������������	������	
����
������ ������ = ���-

���������	������	���������	�
��������
���
����	�


������	�����������	��	���
���������������� ���′ ��

���������������������������!����������	���������

����� ���� ������ ��� ′ � ������ ������� �= � ���� �����

���������������	��������������������������	
�����

���������������� ������������� ������ ��������� ��

�����	�����������������

�����������������������������	
������	��������	���	
������

��� ���������������
������������������	
������

���������#��������������������	
������

	������������������������	�����������������	�����������������
������
����	�
�����������-
��������������������������������������������

i) ���������	�������������������������������������

ii)  �������
���������

iii) �������������������

������������������������������������	
��������������	�����������������

"
�����
�������������������
�
�

�
� �����
� ������������������ −= (SI)

��
�i) 0   ii) 
�

�
����−    iii) 0]

x (cm)

y (cm)

2

- 2

5 10 15 20

t = 0
(��

t (s)

y (cm)

2

- 2

0,4 0,8 1,2 1,6

x = 0
(���
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39. �������	���������	�
��
����	�
�����������������
	
������������������������������ ������������ −= (SI).
�����������������������������	
������	��������	���	
������

��� ���������������
������������������	
������

* ���
������	����������������������� �
�

�(
��


�

�−= ��������������������������	
���������-

������������������	
��������������������������
�������������� ����� � = .
!�������

	�����
��	

�



⋅
= ������ ��
�

�

�
��

�

�
� �

�
�
�) == ∑ �	��� ���	�� ⋅⋅= .

�"
�����
����������������
��
�

�
����
�

2
62

0
22

m

W
108y����2I −⋅== ]

40. "���������	�������	���������������������	��	
�������������������
��������W.
����������

������������������	
�����������������������������������

���������������������������������������	��������������������������������������������


,cm20 2 ���������	���������������
��������������������������������������������	�����-
����	�������������
�������������������	
������

����������������������������������������������	
������������������� %
�

�
���

�

�−⋅

"
�����
�
��

�
��� �����
� *���
 
−⋅ �����
����'

41. "���������	�������������������
���� ��	�������������	��	
�����

���
���������������	
������������������ ���� = �������������������� �
� �������������

�������������� �� ���������������������������	
������������ �






 �
� =

* ����������������������������	
�������������������������
����	�
����������������
���

���� ����������� �����
������ ��
�������� ����������� ���� �
����	�
��������������� ��

����������
�������
��� �
+��+ ��
 = ������+���������

i) 
�������������� ���� = �����������������
�������
������������������������
�-

���	�
������������� ������ �
���

−⋅= ���������������
�����������
������������������

�����
����	�
��������������������� �� ������������������
�

ii)  ���������,����������������
����������
����������������������
�����������
����-
��������������������
����	�
��������������������� �� �������
���������

"
�����
�-�������
�#
� ��� �−    ii) 300% ]

42. ��� ���� ������� !�� ����� �
�
����� �	��������� ���������� ����
� ���� �������� �������� ��

������������������������������
��������������������������������������	��������	��	
-
�����������������
�����	�����������
�������
��������������������������������������

��� ��� � �������
�������	������	���������	����������������������	
����������������-

�t2

�t1

�t

S�(
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����-��������	�����������������	�

���������������	���������

�����������������������������	
������	��������	���	
������

��� ���������������
������������������	
������

* ���
����
���������������������������
����������������������	�������	������������������

	
��������������������
��������������

i) �����	���
������������������
�������
���������������������������
��
���������
	����������	�����������������������

ii) 
�����������������
��������������������������������
�����������������������
�������������	���	������������������������ ���� �� �����������������������
������
��-

�����������������������������
����������� �
�

�

�

�

�

�

���

��� =

!�������������������������(ii):
���	������������������������������������������������
���������	
	
���������������

��
�����������������
������������������������
��������
��������������
��	
	
���

����	������ �� ��� �������
��� �
�
����

�
��� ������� ⋅⋅=⋅⋅= �������+���������

�"
�����
�������� �����������
�
�

�
� � ���
�i
�����������������	��������������	�������������

	
	
��������������������	�����������
���������	��������������������	��������������

�������������������	
���	������������������

��������������
����������
�����������-
�������
������������
������������
��������	����������	�����������������������'

43. �
��������	��	
����� �������
������	��� ��������������������������������� ������
����	�
��������������������
�����������������������	�����������������
���������	��������
���-
����������������	���������������������� ���′

����
����������������������������!��������������������	�
�������������	�
�
����

���� ��� 	
����� ��������������� ����� ������ ���� ����� �������� ������� �= ���
���� ���

������������
�����	���(�)�������	�������������	
������������������������������������

��������������������������������������	
�������������	
�����������������
�������
�

������	�������

������������������������������������������	������������������	��
����

�������������������������������


i) �
���������	����������

ii) �
���������	���	��
����

iii) ����������
�	��������������	�������	��
����

	�� ��� ����������� ��� ������������ ���� ��������� 	
������ ���� �����	��� ��������



�
�� = � 	��

�



��
�� =

"
�����
� �
�

��
��

�

���
������ �= �����
��������������� ,��




�
������� ∈+=
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